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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7193991285
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71939924057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 5e11e5 15 givern with ore terml mussing. select the correct alternative from the givern ones that will complate the

SETIES.

GE 28, KF40, OASZ, 7, WO7FG
Options:

1. % 5UE4

2. ¥ 5VE4

2% TVed

4 % TUG4

Question Number : 1 Question Id : 71939924057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U SR R T §, e & U v e 81 Ry g et # & 9 wel e g, S Srgwe i
GE2E, KF40, OASZ, V¥ WG7FE

Options:

1. % 5164

= ¥ 5VE4

2% TVe4

4 % TUE4

Question Number : 2 Question Id : 71939924058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& Series 15 given with one term wrong. select that wrorg term from the given alternatives,

RCOMD, ¥WGY, DEZT, JMS0, FULJ
Options:

1. % HWGY

2. % DEZT

3. ¥ ROMD

4 % M5O

Question Number : 2 Question Id : 71939924058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S e T g, e & U ug e 31 Tew my fdwedt § & 39 e ug @ g

RCOMD, ¥WGY, DEZT, JMS3O, FULJ



Options:

1. % HWGY
= % DEZT
3. ¥ ROMD
4, % M5O

Question Number : 3 Question Id : 71939924059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the odd word pair from the given alternatives.

Options:

1. % Furniture : Chair
2. % Stationery : Pencil
2. % Shirt : Garment

4. % Utensil : Spoon

Question Number : 3 Question Id : 71939924059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TraferfaT wa # fo  Foereat # & foow seg g @1 giam
Options:

1. % oeffere gt

o % FreET | o

3. o FHM T

4. % g T

Question Number : 4 Question Id : 71939924060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg qQuestion, select the related letters from the given alternatives.

ERE MNU TV :7?
Options:
1. ¥ Wy
> % ¥H7
3. % V¥
4 % 7B

Question Number : 4 Question Id : 71939924060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v | o my Hwedt o & deted srert w1 g
EE MNU TV 7

Options:

1.9 Wy

2 ® X7

3wV

4 % 7B



Question Number : 5 Question Id : 71939924061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letter pair from the given alternatives.

MO - 5TS 0 7
Options:

1. % RAP  XFY
2. % LIP: RQH
3. % GOM : MINU
4 % RGM : LU

Question Number : 5 Question Id : 71939924061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferT na # fom 7 amedt # & Hellda s1a) g w1 g

MOE  5TS 0 7
Options:

1. % RAP  XFY
= % LIF: RQH
3. % GOM : MINU
4. ¥ RGM : LU

Question Number : 6 Question Id : 71939924062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Il & certain code language, 'GRIPS 15 written a5 718291619, FRAME' is written as "'6131 125", What is the
code for “JEANS' in that code language?

Options:

1. % 15011491
2 ¥ 10511419
3. % 15114901

4. % 10411491

Question Number : 6 Question Id : 71939924062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁfgﬁgwﬂi ‘GRIPS’ ®1 71891619 RaT9maT1 s, FRAME ¥ 6151135 o1 9@ 31 50 @15 AT # JEANS &7
RN

Options:

1. % 15011491
Z % 10511419
3. % 15114901
4. % 10411491

Question Number : 7 Question Id : 71939924063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Six girls F, G, H, ], K and L are sitting in a row facing towards north ot necessarily in the same order). L and K
are sitting at the ends. Only G is between F and K. ] is to the immediate left of H. G is to the immediate right of
F. What is the position of F from the left end?

Options:

1. % Third

2. % Second

3. % Fourth

4 % Fifth

Question Number : 7 Question Id : 71939924063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

OE @SIHAl F, G, H, ], K T L U Ufth # S0 &7 371 8 ek 61 g2 8 (o0 451 gl @A H g L TTK ol AT ge 81 F
TTE F meg dad G 81 ], H & qia af ok 81 G, F @& g g1 oK g1 a4 T & F &7 019 747 57

Options:

1. % dte

2. % gE
= o ol
4 % qEr

Question Number : 8 Question Id : 71939924064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& tearmn of four members is to be formed out of Shovs P, O R, Sand Tand & girls : ], K, L, M and M. Following
conditions should be kept in mind :

A1 F and M wall be selected together.

(E) N and L will not ke in the same tearm.

(O R and T will always be in the same tearm.
D) Minirmurm one girl should be in tearm.

which of the following team cannot be formed?
[LPM]JL

II. 25RKEF

I[II.LMOF

[WV.LETHN

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 1and IV

2 11, 11l and IV

3. 11 and I1I

4. 1 and III

Question Number : 8 Question Id : 71939924064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



CHAS® P, Q R, 5 TMT @S Asteat: [, K, L, M TN # O Gt # Ui oIF 94131 A1 51 HaioaT aat &t e o &

(&) P 27 W gHaT "rr § o S
(E) N T L a0 SR | g1 gim
(C) R T T gHam 99= <19 # gim
(D) T H &0 & FH UF ASHT 5T e

THATeTTE H & 1= T S g st ST w1 57
LPMJL

II.QSRP

IL.LMQP

IV.LRTN

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.1 9amlV

2. 11, 111 =TIV

2. 11 Fr1ll

4.1 94r1ll

Question Number : 9 Question Id : 71939924065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If ‘& + B means "4 is the father of E', "4 - B means ‘A isthe sister of B "A + B means ‘A isthe wife of B, "4 x
E means ‘4 is the son of B, then which of the following represent 'S as the sister of P'7

Options:

1L ¥ PxQ+R+5-4
2 % RERSxP+O
Z®R+PxE-O

4 % A+ xR-5<P

Question Number : 9 Question Id : 71939924065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g s + B @Tanf A, BAETIETE, ‘A -B @wTapl 4, BHTERAR, ‘A « B @Tani A, BHRIURAIY, ‘A x B w1 sRf A BT
=g, 3 AT # § R 6775 ®P h ogT gaiar g7

Options:

1LY PxQ+R+5-4
2 ®RSxP+OQ

2 ®R4+PxE-0O

4 % A+ QxR-5<+F

Question Number : 10 Question Id : 71939924066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:
[. All Jare M.
II. Some M are A,

Conclusions:

[ Mo Ais ]

II. Some & are not M.

Options:

1. % Only conclusion I follows.

2. % Only conclusion II follows.

2. % Both conclusion I and II follows.

4% MNeither conclusion follows.

Question Number : 10 Question Id : 71939924066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Terr oy wer # w wre oY I SE I w1 T ST i Tserd o T g T T et Y 6g 6, T 39 S A
Fert & TargaT g ot fomand v offv T Frerffo o8 o fam o &6t & Tomard, T v et & s o gheETT @)

ELza .

Ruothi

Options:

1. % el Tmepd 1 21 e &eaT gl

2. % et T 11 STgEr FaT gl

Z. % gl ey [ J2TI SgE a9 )

4. ¥ wig Wi oo srgee T e

Question Number : 11 Question Id : 71939924067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
staternents.

Statermnents:

. Some red are yeallow,
I1. Mo yellow 15 pinlk.
ITI. No pink is white.

Conclusions:

[. Mo white 15 red.

II. Sorme yellow are red.

III. Sorme pink are not yellow.

Options:



1. ® Only conclusion 1T follows.
2. % Both conclusion I and I follows.
3. % Both conclusion [ and I follows.

4. % Al conclusion follow.

Question Number : 11 Question Id : 71939924067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Tem My wer | g w39 Ag, 3 el T AT i sy o T 9 T T et ' wRt 0, T S5 9 A
Fert & TargaT g &t ot o ofl% o Frerfio @ o Tam o @01 & Tomars, o g et o Simere o gReETd 2

EL=a .

1. WS |hE, T 51 31

I1. % UI#T, &1 2]

1. % AT, SFT 751 3

Options:

1. % eyl Toserd 111 ST EoT ®lT )

2. ¥ G T 11 2T 111 STaeo &ed g
3. % AT w1 T I Srge ad gl

4. % gl e e v 5l

Question Number : 12 Question Id : 71939924068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[f4z2P1l6M19=46and 11 M 13F 12 =12, then 16 P 18M 24 =7

Options:
1. % 22
2 % 24
3. ¥ 22
4 % 20

Question Number : 12 Question Id : 71939924068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 43P 16M19 =46 FM1I1M13P 12 = 125 FTI6P 1EM 24 = 7

Options:
1. % 32
=z % 24
=3
4. % 320

Question Number : 13 Question Id : 71939924069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A series is given with one term wrong. Select that wrong term from the given alternatives.

44, 22, 33, 725 28875
Options:

1. % 33

2. ¥ 725

3. % 2BR7S

4 % 22

Question Number : 13 Question Id : 71939924069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e SR o a7, T & g g e ) T g et § & 39 e ug A g

44, 22, 33, 725, 28875
Options:

1. % 33

= W 725

3. % 2BR7S

4. % 22

Question Number : 14 Question Id : 71939924070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Teacher, Mother, Male
Options:

D
QED

O
O

O

Question Number : 14 Question Id : 71939924070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

STEME, HIGT, T5
Options:

Question Number : 15 Question Id : 71939924071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr mnany lines are nurmbers?

T
4 Numbers

/Lmes
>
w a)

12

[ |5\

Letters

Options:
1. % g
o %1
3. % 20
4 v 21

Question Number : 15 Question Id : 71939924071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Pt v e 27
6 [ . i
E 4 HqEITT
X 16 g 12
9
[ 15\
/
e
Options:
1. % 4
2. % 12
3% 20
4 9 21

Question Number : 16 Question Id : 71939924072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Shweta starts walking. After walking some distance, she moves left. Mow after some distance she turns right.
Afrer sorme distance she finally moves right. If she is facing tovards south, then in which direction she started
walking?

Options:

1. % Wwest
2. % IMorth
=, % South
4 ¥ East

Question Number : 16 Question Id : 71939924072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST SETGH] Tl & GG T o g [
T B A B V.o T et oy o 8 R P T

Options:

1. % k2w
2. % Y

3. ® ggm
4 & O

Question Number : 17 Question Id : 71939924073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& pen is rotated by 3727 10 clockwase direction. Thern, it 15 rotated by 4767 in anticlockwise direction. Again, it
is rotated by 234° in anticlockwise direction. It is finally rotated by 458% in Clockwise direction. MNow, it is
pointing towards east direction. In which direction it was pointing initially?

Options:



1. % MNorth east
2 % HMorth west
= % South east

4. # South west

Question Number : 17 Question Id : 71939924073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Teld 1 S IE0TTe g H 372° YT =T 81 T 5o anarad faam § 476° JHTET 73T 81 56 09 aTaTdd foar § 2340

T 21 56 A Siauad foar H 455° THTT T 31 3 I9F Ug TG4 & 7% SR FK 5T 51 Ig AR H T Tegar & 57K gy &
T 4T

Options:

1. % goT e

2. ¥ v sy

3. % g

4. % i qism

Question Number : 18 Question Id : 71939924074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

@) | 7
Ao
AR

Options:




Question Number : 18 Question Id : 71939924074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO TFTT W4T ST o Wi @1 qRT HeA e

@) | 7
Al 2

| o |

Options:

3

Question Number : 19 Question Id : 71939924075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



By folding the given paper, which of the following cube can be rmade?

>
\O
oo
~J

Q

U @ &

I II ITI
Options:
1. % Both II and III
= ¥ Only 1
3. % BothIand III
4. % Only 11

Question Number : 19 Question Id : 71939924075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T I @ Hiee R, e ET ® € 97 e S S a8

3
7

I II I
?Pt;n;e:;maﬁ

3. ® [ FuTII TET
4 ® FA Il

>
O
co

Q)

Question Number : 20 Question Id : 71939924076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which answer figure will complete the pattern in the question figure?

=
/

Edjjed

Options:

[

/

|

[1\
N

r—""
-

g o

Question Number : 20 Question Id : 71939924076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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General Awarerness
Group Number : 2
Group Id: 719399960
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarensss
Section Id : 7193991070
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 7193991286
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 71939924077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhhathi Dala Chhath and Surva Shashthi festival is celebrated in which of the following Indian state?



Options:

1. % Cdisha
= ¥ Bihar
3. % Assam
4. % Sikkim

Question Number : 21 Question Id : 71939924077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T Ud 58 A1 & uEt RN FEiaEy # 9 T I e § 5 ST a7
Options:

1. % anizam

o ¥ TEEw

3. % ey

4. ® f&igH

Question Number : 22 Question Id : 71939924078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eirtistammbha, or Tower of Fame, was constructed in

Options:

1. % Pallavas
Z % Cheras

3. % Cholas

4. Solanki

style architecture.

Question Number : 22 Question Id : 71939924078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TITdea, o 1A T, __ ATEg Tt St # FTT T
Options:

1. ® Ueeld

2 %

= ® g

4 & iea

Question Number : 23 Question Id : 71939924079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which Department under Ministry of Finance has principal responsibility of preparation and presentation of
the Union Budget {including Railway Budget) to the Parliament and budget for the state governments under
Fresident’s Rule and union territory adimnistrations?

Options:

1. % Department of Econoruc Affairs
Z % Department of Expenditure

3. # Departrment of Revenue

4. % Department of Investment and Fublic Asset Managerment



Question Number : 23 Question Id : 71939924079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ﬁﬁﬁamﬁdmﬁraﬁqﬁ%ﬂmﬁ:‘wﬁﬂmﬁﬂmg? T ST SR e (e i s FIra Jeg K T
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Options:

1. ¥ anidier AT % T

2 % s T

3 ® e T

4 % Tt offT AT A Weree e

Question Number : 24 Question Id : 71939924080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Annual Financial Statement of the Government of India shows the receipts and payments of government
under which of the following government accounts?

I. Consolidated Fund
II. Contingency Furnd
IIT. Public Accourt

Options:

1. ®* landIl

2. % [landIII
2 % JandIll

4. %1, 11 and III

Question Number : 24 Question Id : 71939924080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W TFRT FT ATTHeR To 197 el g ieiiE SR @rd | H & T a5 Se R i Talg S 9ra T faEmar g7

1. gt e
11 TerieEaT e
111, gref=i=ar =maT

Options:

1. % I 7971l

2. % [l F9rlll
Z% [ F9TIll

4. 1, 11 q9r1Il

Question Number : 25 Question Id : 71939924081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cell organelle is involved in the formation of lysosomes?

Options:

1. % Mitochondria
2. ¥ Golgi apparatus
2. % Vacuoles

4 % Plastid



Question Number : 25 Question Id : 71939924081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
DI T FITSHT STTF ATGH T a1 H ATed 5idf a7

Options:

1. % gEcimaT-2ar
2, o Tl U
3. ® weemieaar

4 ® s

Question Number : 26 Question Id : 71939924082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Plants belonging to don’t hawve nalked ermbryos.

Options:

1. # Thallophvyta
Z % Bryophyta
3. # Pteridophyta
4. ¥ ATIZIOSperTl

Question Number : 26 Question Id : 71939924082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ & FaltEd Orer § 70 g A5l 5T al

Options:

1. % SeimEer
2 % FrRIETET
3. ® Theimeer
4 gy

Question Number : 27 Question Id : 71939924083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing natural source-acid pair 15 correctly matched?

Options:

1. ® Crange - Acetic acid

Z ¥ Tomato - Oxalic acid

2. % Tamarind - Methonic acid
4. % Nettle sting - acid

Question Number : 27 Question Id : 71939924083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR # & F-aT U eid- e @7 W g gl o Bel G E7
Options:

1. % &aer - Ui e

2. ¥ THREY - AiFaied 2

3. ® Toell - odeTEw e

4. ® JTA BT EF - ok A



Question Number : 28 Question Id : 71939924084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following latitude divides India into two equal halves?

Options:

1. % 23° 15N
= % 23° 45N
3. ¥ 23° 30N
4, % 22° 20T

Question Number : 28 Question Id : 71939924084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 23° 15N

2 % 23° 45N

3% 23° 20N

4 % 22° 30N

Question Number : 29 Question Id : 71939924085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following crop in India is not an irmportant plantation crop?

Options:

1. % Banana
Z % Rubber
3. ¥ Millet

4. % Sugarcane

Question Number : 29 Question Id : 71939924085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 % @

3. ¥ AT

4 % Tgr

Question Number : 30 Question Id : 71939924086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements regarding Laterite soil is incorrect?

Options:
1. # The laterite soil dEVelﬁpS under tI‘OpiCEll ard Suth‘OpiCEll climate with alternate wet and dI“j.F Sea 50T,
= % Laterite soil is the result of intense leaching due to heavy rain.

2. ¥ Lateritic s0ils are mostly deep to very deep, basic (8.0<pH) and deficient in plant nutrients.



4 % They are prone to erosion and degradation due to their position on the landscape,

Question Number : 30 Question Id : 71939924086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 31 Question Id : 71939924087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 1305, which Wiceroy partitioned Bengal?

Options:

1. % Viceroy Curzon

2. % Vicerov Rippon

= ¥ Vicerov Linlithgow
4, % Viceroy Lytton

Question Number : 31 Question Id : 71939924087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ GrEer de

2. % gre foe

3. ® FrEEe AT
4. ¥ FrE fele

Question Number : 32 Question Id : 71939924088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Khalji and Tughlug monarchs appointed rmilitary commanders as governors of territories known as

Options:

1. # Mugtis
2. ¥ Igta

% % Kharaj
4. % Samanta

Question Number : 32 Question Id : 71939924088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

1. % gFdr

= & T



3% WO
4 # gt

Question Number : 33 Question Id : 71939924089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which satyagraha organised by Mahatma Gandhi turned out to be the first all - India struggle against the
Eritish gowvernment?

Options:

1. ¥ Charmparan satyagraha
= % Kheda satyagraha

2. % Aherndabad satvagraha

4. ¥ Rowlatt satyagraha

Question Number : 33 Question Id : 71939924089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ZOmm geamy

2. ® g@ETHacamy

3. ¥ EHSETE HoAmE
4. ¥ TIeT WeaTTg

Question Number : 34 Question Id : 71939924090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“My Life, My Mission” is the autobiography of which of the following famous personality?

Options:

1. % Baba Rarmdev

Z % Amitabh Bachchan
3. ® At Shah

4. % Atal Bihari Vajpayes

Question Number : 34 Question Id : 71939924090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. gEr o

o % fiaTT age

Z % arffg Ay

4, ¥ 3 EEWr arut

Question Number : 35 Question Id : 71939924091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

J C Daniel Award, the Kerala government’'s highest honour for outstanding contribution to Malayalam cinerra
has been awarded to which actor jactress in 20137



Options:

1. ¥ Sheela

2 % Jagathv Sreskurmnar
2. % Ashish Vidyarthi
4. % Rajvalakshri

Question Number : 35 Question Id : 71939924091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

1. v st

2 % Sreft sftpA
S e
4 % yraTEsHt

Question Number : 36 Question Id : 71939924092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won the 20139 Senior Worren's Mational Squash Championship?

Options:

1. % Dipika Pallikal Karthik
2. % Sunava Kuruvilla

= * Janet Vidhi

4. ¥ Joshna Chinappa

Question Number : 36 Question Id : 71939924092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % U Ueet e Plid®
2 % gar gl

3. % ST et

4. ¥ e ’=er

Question Number : 37 Question Id : 71939924093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following provision was not borrowed by Indian Constitution from the Canadian Constitution?

Options:

1. # Federation with a strong centre

2. % appointment of state governors by centre
3. % Advisory jurisdiction of the supreme court

4. % MNorminatioj of members to Rajya sabha

Question Number : 37 Question Id : 71939924093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gamm o o TT T ST

2 ® G BRI T & TAUTAT @l gl
3. ¥ Iy e o WA At
4. & TT TAT o TolT Taed] @ ATHeT

Question Number : 38 Question Id : 71939924094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following statements regarding the office of the Comptroller and Auditor General of India is
incorrect?

Options:

1. % The Comptroller and Auditor General of India is appointed by the President.

2. % The procedure and the grounds for his removal from office are the same as for a Supreme Court judge.
=, ¥ He is eligible for further office under the union or a state government after he ceases to hold his office.

4. % The accounts of the Union and of the states shall be kept in such form as the President may, on the
adwice of the CAG, prescribe.
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 71939924095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the host [AAF World Athletics Championship 20197

Options:

1. % Paris

2. % Ulaanbaatar
= % Beijing

4 ¥ Doha
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Options:
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3. ® e

4 ¥ IET



Question Number : 40 Question Id : 71939924096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Forrers Cup 15 associated wath which sport?

Options:

1. % Cricket
= ¥ Football
3. ® Hockey
4. % Golf

Question Number : 40 Question Id : 71939924096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 71939924097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the HCF of 6, 31E_ s % 5
!

Options:

Question Number : 41 Question Id : 71939924097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 36
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Options:

1. % 3117
= W E[17
3 % 2014
4. % 28

Question Number : 42 Question Id : 71939924098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5+5_2K4+8_3+1U+8¢
5 !

What is the value of

Options:
1. % 4
2 V5
3. %6
4 #® 7

Question Number : 42 Question Id : 71939924098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
54+6—2x4+-8—-34+104-8
5

T Al T 82

Options:
1. % 4
2 V5
3. %6
4 #® 7



Question Number : 43 Question Id : 71939924099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the greatest number that will divide V25 and 200, leaving the rermainder 8 and 4 respectively?

Options:
1.9 18
2 % 14
3% 24
4 % 15

Question Number : 43 Question Id : 71939924099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 16
Z % 14
3 % 24
4 % 15

Question Number : 44 Question Id : 71939924100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of

1
-

H-\.I|I—l

3 f3.2y 2]
——|—+—1—— B AB—2)xA+3—T ?
9 |9 9 9‘

Options:
1.9 297

o % 397
z % g
4. % 4
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Options:
1.9 297

> % 39/7
3. %6
4. % 4

Question Number : 45 Question Id : 71939924101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If A= — then what is the value of 24A7

Options:
1.9 132
2. % 13740
3. % 1314
4. % 13]12

Question Number : 45 Question Id : 71939924101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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34

Options:
1.9v 132
2 % 13140
3. % 134
4 % 13112

Question Number : 46 Question Id : 71939924102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ratio of selling price to marked price is 2 7. What is the discount percentage?

Options:

1. % 57.14 percent
= % 5E.14 percent
3. # 42 85 percent
4. % 47 56 percent

Question Number : 46 Question Id : 71939924102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25



Price of rice is increased by 55%. Ev how much percentage a household should reduce her consumption to
keep the expenditure sarme?

Options:

1. % 35 48 percent
2. % 27 BC percent
2. % 2653 percent

4. % 29 8L percent

Question Number : 47 Question Id : 71939924103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT & O BT S5% & =S =T 72T 81 097 1 90 @ & 7oy 0o g0l 1 0T | o= Wi <rd & &0 9% o1 aTieg?

Options:

1. % 3548 uideT
2. % 37 83 nideT
3. % 3653 0T
4, % 3985 nideT

Question Number : 48 Question Id : 71939924104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The radius of a sphere is firstly decreased by 32 23% and then increased by x%. If there is no change in the
surface area of sphere, then what is the value of %7

Options:
1. % 20
2. % 25
3% 75
4. ¥ 50

Question Number : 48 Question Id : 71939924104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 20
2. % 25
3% 75
4 ¥ 50

Question Number : 49 Question Id : 71939924105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Jiten calculates the profit/loss on selling price. Jiten sold an article G at a profit of 20% and the cost price of
article G is Rs. 1200, Prern calculates his profit(1oss on cost price. Prem sold a article M for Rs. 1125 at a loss
of 25% What is the ratio of cost price of article M to the selling price of article G?

Options:
1. % 3.2
2 % 2.5



3% 1:3
4 ¥ 1:1

Question Number : 49 Question Id : 71939924105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 3
2. % 2
3% 1
4 ¥ 1

=

Question Number : 50 Question Id : 71939924106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rahul spends some part of his income and saves the remaining part. The ratio of his expenditure and saving
is 4 : 5 respectively. [f Rahul's incorme is Rs. 90000, then what will e his expenditure?

Options:

1. % Es E0000
2. % Rs. 40000
2. % Rs 20000
4 % Rs 25000

Question Number : 50 Question Id : 71939924106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rpe ST ST T G | el e T 5 T A T STl g1 el S0 Tl s o1 iUl a4 0 5 g1 IS Tgel hi
Q0000 70 5, FT TS 2 4T §IT7

Options:
1. % o000 =

= % 40000 B
= ¥ 30000 F0F
4. % 35000 T

Question Number : 51 Question Id : 71939924107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum of Bs. 2242 is divided among X, ¥and Z such that if BEs. 18, Rs. 12 and Es. 11 be diminish from the
shares of ¥, ¥ and Z respectively, then their shares will be in the ratio 2 : € : 7. What is the new share of Z7

Options:
1. % REs 900

2. % Hs 975
2. ® Hs. 1200
4 ¥ Rs. 1400

Question Number : 51 Question Id : 71939924107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 900 o

= ® 975 B
T ¥ 1200 w0
4 % 1400 0

Question Number : 52 Question Id : 71939924108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum becomes Bs. 21000 on compound interest (compounding annually) after one vear. This sum becomes
Es. 22050 on compound interest (compound annually) at the same rate after two yvears. What is the annual
rate of interest?

Options:

1. % 10 percent
2. % 15 percent
3. % 12 percent
4. ¥ 5 percent

Question Number : 52 Question Id : 71939924108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 10 nfdem
2. % 15T
3 % 12 uidea

4 ¥ 5 uidad

Question Number : 53 Question Id : 71939924109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 500 metres long train is running at the speed of 36 km/hr. If it crosses a bridge in 70 seconds, then what is
the length of the bridge?

Options:

1. % 200 metres
2. % 3200 metres
2. % 100 metres

4. % 400 metres

Question Number : 53 Question Id : 71939924109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 200 At

= ® 200 AT



3. % 100 dwT
4 # 400 ARwY

Question Number : 54 Question Id : 71939924110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A scooter runs at a speed of 26 kmfhr after repairing and runs at speed of 20 kmnfhr before repairing. It
covers a certain distance in 2 hours after repairing. How much time will it take to cover the same distance
before repairing?

Options:
1. % 2417 hours

!
2. % 125 hours
3% 12
4. % 24/5 hours

7 hours

Question Number : 54 Question Id : 71939924110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
1. % 2479

f
2 W 125t
3. % 127 O
4 ® 24i5

Question Number : 55 Question Id : 71939924111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wivel and Mohit alone can cornplete a works in 42 days and 56 days respectively Vivel: and Mohit start together
but Mohit left after 12 days from the beginning. How many days will it take to complete the remaining work?

Options:

1.9 21 days
2. % 24days
2. % 18days
4 % 15 days

Question Number : 55 Question Id : 71939924111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.v 2117
o % 24%T
3 % 18T
4 % 15fT
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Correct Marks: 1 Wrong Marks: 0.25

A solid cuboid of lerigth, breadth and height 40 crry, 35 cmand 20 cm is melted to form identical cubes of side
4 crm. 20% of solid cuboid is wasted in melting. What is the total number of small cubes?

Options:

1. % 400
2. ¥ 350
3. % 3RO
4. % 440

Question Number : 56 Question Id : 71939924112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Options:

1. % 400
= ¥ 350
3. % ZEO
4. % 440

Question Number : 57 Question Id : 71939924113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Perirneter of a rectangle is equal to the circurnference of a circle whose radius is 21 cm. If the area of rectangle

15 864 cmz, then what will be the length of the diagonal of a rectangle?
Options:

1. ¥ 5./102 cm

2. ® 6./87 cm

2 ® 9./83 cm

4 ¥ 6./72cm

Question Number : 57 Question Id : 71939924113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

1. % 5102 9 H
2 % g./87 @A
3 % 9.z EAT

4« 6./73 HAT
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart given below shows the number of aeroplane that departed from the particular airport on
different days of a week. The number of aeroplane that departed on a particular day is shown as a percentage
of total number of aeroplane that departed on all the days of a week.

what is the central angle subtend by the sector for day D47
Options:

1. % 18°

2 % 200

3. % 44°

4 ¥ 50.4°

Question Number : 58 Question Id : 71939924114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 18°

= ® 30°

3. % 447

4. ¥ 50.4°

Question Number : 59 Question Id : 71939924115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the number of chefs in different hotels of a city.

Number of chef's

Hl1 H! H3 H4 H5 Hs
Hotels

If & represents the total number of chefs in hotels H2 and H3 and B represents the total number of chefs in
hotels H1 and HE, then E is what percentage of 47

Options:

1. % 122 37 percent
2. ¥ 126 31 percent
% % 13031 percent

4, % 134 37 percent

Question Number : 59 Question Id : 71939924115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4 % 134 37 Uidad

Question Number : 60 Question Id : 71939924116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of teachers in different coaching of a city.

80 - 70

60 - 50 54
50 1
40 1
30 1

20 - i
10 4
D T T T T T 1

Cl C2 C3 C4 C5 Ob

Coaching

Number of teachers

The number of teachers in coaching C& is how much less than the total number of teachers in all the &
coachings?

Options:

1. % zo2
= % 204
3 v 206
4. % 210

Question Number : 60 Question Id : 71939924116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % 202

2 % 204
3.9 206
4. % 210
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Question Number : 61 Question Id : 71939924117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The country (1)) expect us to (2)) do our duty (3} No error (4)
Options:
1.%1
= v
3% 3
4. % 4

Question Number : 61 Question Id : 71939924117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The country (1)) expect us to (2)) do our duty (3} No error (4)
Options:
1.% 1
2 2
=% 3
4 % 4

Question Number : 62 Question Id : 71939924118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Evervbody admitted (1)) that she has (2)) doing her best (31 No error i4)
Options:
1.% 1
2. %2
3. ¥ 3
4 % 4

Question Number : 62 Question Id : 71939924118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Evervbody adrutted (1)) that she has (2)) doing her best (31 No error i4)
Options:
1.%1
2. % 2
3.¢3
4 % 4

Question Number : 63 Question Id : 71939924119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The teacher (agree) to answer all the questions.
Options:

1. % agreeing

2. % has agreeing

2. ¥ agreed

4. % IMNoimprovernent

Question Number : 63 Question Id : 71939924119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The teacher (agree) to answer all the questions.
Options:

1. * agreeing

2. * has agreeing

3. ¥ agreed

4. % MNoimprovernent

Question Number : 64 Question Id : 71939924120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

[t does not take much o (make) her angry.
Options:

1. % making

2. % made

2 % makes

4. ¥ No improvermnernt

Question Number : 64 Question Id : 71939924120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

It does not take much to fTiake) her angry.
Options:

1. % making

2. % made

2. % makes

4. % No improvernent

Question Number : 65 Question Id : 71939924121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Flowers ______ the beauty of our surroundings.
Options:

1. * embellishment

2. ¥ enhance

2. % replenish

4. * destroys

Question Number : 65 Question Id : 71939924121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Floweers the beauty of our surroundings.



Options:

1. * embellishment
= ¥ enhance

2. % replenish

4. # destrovs

Question Number : 66 Question Id : 71939924122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

[ congratulated him
Options:

1. % dusto

= ¥ on

3. % for

4. % because of

his promotion.

Question Number : 66 Question Id : 71939924122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I congratulated him his prormotion.

Options:
1. % dueto
2 ¥ on
2 % for

4. % because of

Question Number : 67 Question Id : 71939924123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: in schools

: other activities

E: take precedence orer
5: acadermic subjects

Options:

1. % POSE
2. % QPSR
2. % SRPQ
4 ¥ SROP

Question Number : 67 Question Id : 71939924123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

P in schools

) other activities

E: take precedence over
5 acaderuc subjects

Options:

1. % PQSE
2. % QPSE
2. % SREPQ
4 ¥ SROP

Question Number : 68 Question Id : 71939924124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: high fever and
: on her bed

E.: she laid motionless
3. she had

Options:

1. % PORS
2 ¥ SPRO
2. % SPOR
4 % SRPCQ

Question Number : 68 Question Id : 71939924124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rearrange the parts of the sentence in correct order.

F: high fever and

: on her bed

E: she laid motionless
5. she had

Options:

1. % PQRS
2 ¥ SPRO
2. % SPOR
4. % SRPCQ

Question Number : 69 Question Id : 71939924125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

ourtesy
Options:

1. % Expand
2. % Discord



2. % Obstacle

4 % Praise

Question Number : 69 Question Id : 71939924125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Courtesy
Options:

1. % Expand
2. % Discord
2. ¥ Chstacle

4 % Praise

Question Number : 70 Question Id : 71939924126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Spiritual
Options:

1. # Earthly
= % Legal
3. % Carnal

4, ¥ Bodily

Question Number : 70 Question Id : 71939924126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that 1s opposite in meaning to the given word.

Spiritual
Options:

1. # Earthly
= % Legal
2. ® Carnal
4. ¥ Bodily

Question Number : 71 Question Id : 71939924127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:
1. % Ambassador

2. % Ambasader
3. % ambbassador

4. % ammbasador



Question Number : 71 Question Id : 71939924127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. ¥ Ambassador
2. % Ambasader
3. % Ambbassador

4 % ammbasador

Question Number : 72 Question Id : 71939924128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ¥ Beneficial
= % Benificial
3. % Benefitial
4. % Banefitle

Question Number : 72 Question Id : 71939924128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Beneficial
2. ® Benificial
3. % Benefitial

4. % EBanefitle

Question Number : 73 Question Id : 71939924129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Head over heels
Options:

1. #® A strange person
= % Here and there
2. * Living is luxury
4. % In love with

Question Number : 73 Question Id : 71939924129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Head ower heels
Options:

1. % A strange person
2. ® Here and there
2 % Living is luxury

4. In love with

Question Number : 74 Question Id : 71939924130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Life and soul
Options:

1. ¥ Main support
2. % Energetic

3. % Old people

4 % Al over

Question Number : 74 Question Id : 71939924130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Life and soul
Options:

1. % Main support
2. % Energetic

2. % Old people
4. % All over

Question Number : 75 Question Id : 71939924131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

& person who sells and arranges cut flowers.
Options:

1. % Zoology

2. % Sculptor

3. ¥ Florist

4. % Petrology

Question Number : 75 Question Id : 71939924131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

& person who sells and arranges cut flowers.
Options:

1. % Zoology

2. % Sculptor

3. ¥ Florist

4. % Petrology

Sub-Section Number: 2
Sub-Section I1d: 7193991289
Question Shuffling Allowed : Yes

Question Id : 71939924132 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension

Eead the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of borromweed
morey in the early years of Independence. There has however been hardly any attempt at questioning the
extent of damage caused or in evaluating whether the promises of food, water and prosperity for all hawve
actually been realised. The diversion of rivers and construction of a long system of canals in a densely
populated country like India will involve displacement of people on a colossal scale and the people affected are
never likely to agree with such measures. All over the world, comrmunity reaction is to prevent construction of
large dams. Preserving rivers in free-flow condition is considered ecologically necessary and the construction
of large dams is now legally prohibited in Sweden and also in parts of US4 The technical challenges to be
faced in redrawing the geography of the country are many and full of dangerous consequences and the mad
rush in pursuit of such a chimera will prove disastrous. The cost of the project is so stupendous that any
water made available will cost so much that governments will have to be forever subsidizing farmers. What
long-term impact this massive borrowing will have on the economy is difficult to foresee.

Sub questions

Question Number : 76 Question Id : 71939924133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the thematic center of the passage?

Options:

1. * Following the footsteps of Sweden and US4 in banning the construction of dams.
2. ¥ Dams have proven to be bane rather than boon in the long run.

2. % The social impact of dams over rides their econormic impact.

4. % Dams have proven to be bane rather than boon in the long run and the social impact of dams over rides
their econoric irnpact.

Question Number : 77 Question Id : 71939924134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is true?

Options:

1. % The water made available through dams is better suited for industries than agricultural because of high
CO5ES,

2. % Most of the countries have banned the construction of big dams.



% % The water made available through dams is better suited for industries than agricultural because of high
costs and most of the countries have banned the construction of big dams.

4. ¥ The diversion of rivers will involve displacement of people on a colossal scale.

Question Number : 78 Question Id : 71939924135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following hawe been mentioned as disadvantages of dams?

Options:
1. ® Displacement of people on a large scale
2 & Ecological imbalance due to restrictions on the flow of rivers

3. ¥ Displacement of people on a large scale and ecological imbalance due to restrictions on the natural flow
of rivers

4. % Construction of dams is prohibited in Sweden

Question Number : 79 Question Id : 71939924136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not true about the water made available through dams?

Options:

1. ¥ The water made available through dams has high costs associated with it

2 % The water 50 generated 15 mainly used in agriculture,

3. ¥ The government gives subsidy to the farmers due to high costs of the water from the dams.

4. ¥ The water so generated is mainly used in washing.

Question Number : 80 Question Id : 71939924137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word 15 sirrular in meaning to displacernent?

Options:

1. # Inaction

2. % Stagnation
=, ¢ Dislocation
4. ¥ [nactivity

Question Id : 71939924132 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions.

Eig dams received a big push from politicians and bureaucracy pouring enormous amounts of borrowed
morney in the early years of Independence. There has however been hardly any attempt at questioning the
extent of damage caused or in evaluating whether the promises of food, water and prosperity for all have
actually been realised. The diversion of rivers and construction of a long systermn of canals in a densely
populated country like India will involve displacement of people on a colossal scale and the people affected are
never likely to agree with such measures. All over the world, Cormrmunity reaction is to prevent construction of
large darms. Preserving rivers in free-flow condition is considered ecologically necessary and the construction
of large dams is now legally prohibited in Sweden and also in parts of USA. The technical challenges to be
faced in redrawing the geography of the country are many and full of dangerous consequences and the mad
rush in pursuit of such a chimera will prove disastrous. The cost of the project is so stupendous that any
water made available will cost so rmuch that governments will have to be forever subsidizing farmers. What
long -term impact this massive borrowing will have on the econormy is difficult to foresee.

Sub questions

Question Number : 76 Question Id : 71939924133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the thematic center of the passage?

Options:

1. ® Following the footsteps of Sweden and USA in banning the construction of dams.
= % Dams have proven to be bane rather than boon in the long rurn.

3. % The social impact of dams over rides their econormic impact.

4. % Dams have proven to be bane rather than boon in the long run and the social impact of dams over rides
their ecornomic irmnpact.

Question Number : 77 Question Id : 71939924134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staternents is true?

Options:

1. # The water made available through dams is better suited for industries than agricultural because of high
COStS.

2. % Most of the countries have banned the construction of big dams.

2. # The water made available through dams is better suited for industries than agricultural because of high
costs and most of the countries have banned the construction of big dams.

4. % The diversion of rivers will involve displacement of people on a colossal scale.

Question Number : 78 Question Id : 71939924135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following hawe beern mentioned as disadvantages of dams?

Options:
1. ® Displacement of people on a large scale
2 % Ecological imbalance dus to restrictions on the flowe of rivers

2. ¥ Displacement of people on a large scale and ecological imbalance due to restrictions on the natural flow
of rivers

4. # Construction of dams is profibited i Sweder

Question Number : 79 Question Id : 71939924136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following is not true about the water made available through dams?

Options:

1. ® The water made available through dams has high costs associated with it.

2. ® The water 50 generated is mainly used in agriculture.

Z. % The government gives subsidy to the farmers due to high costs of the water from the dams.

4. % The water 50 generated is mainly used in washing.

Question Number : 80 Question Id : 71939924137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word 15 sirrilar in meaning to displacerment?

Options:

1. # Inaction

2. % Stagnation
2. ¥ Dislocation

4. ¥ Inactivity
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Question Number : 81 Question Id : 71939924138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 81 Question Id : 71939924138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ eidamEes s
2. % TS ST
3. ¥ IO Sedd
4. % famamEed seag

Question Number : 82 Question Id : 71939924139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. gdepricrr T
2 % 9y e fee
3. % arpfd T

4 % g

Question Number : 82 Question Id : 71939924139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. & qferiEe R
2 % A g T
3. ® arpf@ ToET

4 % ggm

Question Number : 83 Question Id : 71939924140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ggsiity qaTa
2. ® Uy UTE
3. % TmremEE

4 % o0y 9H

Question Number : 83 Question Id : 71939924140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeT T R AT A

T ATl
Options:

1. % gty qATE
2. % FHUwg A
3. % THrERE

4. ¥ JoqET qHE

Question Number : 84 Question Id : 71939924141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.gm

2 ST

5. g

4. ST

Question Number : 84 Question Id : 71939924141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e oo o eI e W FiE e e AT S
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. SFETE &0 1 SEHE JTc® o )

2. SFETE Sod B SEWT ATeE ®I o T

3. 40T W SEWY SRATE alleiRT ol T2

4. SREIT® Scd ®1 SEw JTe% =i 7T

Question Number : 89 Question Id : 71939924146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta M7 et # Tore W @ U & AT i

AT FZT &7 F1 I3 B T &



Options:

1. ¥ qean
=z % IO
3 % s
4, % g

Question Number : 89 Question Id : 71939924146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T et 7 TR v @ OE 8 S i

HTTERT FST ST T F5 &1 Fed &
Options:

1. ¢ meam

> % o

3% aT

4. % ooy

Question Number : 90 Question Id : 71939924147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeTy Iy armeper o0 e ST i

STE e sy, g ot I T F e g
Options:

1. % gohgEere

2 % arquf qaerTe

3. % giegre qaere

4.V ETRIHE R

Question Number : 90 Question Id : 71939924147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T 7T T T AT o

ST B aFeTy, B 7 g T 7 e g
Options:

1. % guivaeTe

2. % amuf qFeTe

3. % gierer qaere

4. ' RTRIE A

Question Number : 91 Question Id : 71939924148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tor ™ e A AT E

TH A 4T H# SET A1
Options:
1. % gHarEg



2. ® wdarg

3. ¥ g

4 % gmuf

Question Number : 91 Question Id : 71939924148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oy T o H e AT ik

W & T H ST A1 e
Options:
1. % mHarg

2 % wdard

3. ¥ qaaeg

4 % amuf

Question Number : 92 Question Id : 71939924149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tar my o T  SUgE gETad @ I S

RTET 3701 O o ST H | T ______ |
Options:

1. % St

o ¥ i Tt

SR T

4, % arfeer g

Question Number : 92 Question Id : 71939924149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tem My o T # SO WETa @ e

TTHT 3 Ofd F Eaaw H AW T ______ |
Options:

1. % St

2. & qI AT

3. ® g

4. % gieer weg

Question Number : 93 Question Id : 71939924150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETT T e Tad T SR AT R A

Tefa H GET
Options:
1. % {9

2. gizme o uz-T
3. ® gt ot @



4, % TETEMAET
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Question Number : 95 Question Id : 71939924152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 71939924157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 71939924158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 71939924153 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
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Question Number : 96 Question Id : 71939924154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 71939924155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 71939924158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 101 Question Id : 71939924159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an important and known cause of cognitive disabilities?

[. Trauma and physical agent
II. Chromosormal Abnorrrality
ITI. Psychiatric disorders

IV, Metabolism and nutrition

Options:

1. % I, IIandIII
2. % I, Il and [V
2% [ TandIV

4 % [ 11, 11l and IV

Question Number : 101 Question Id : 71939924159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question 1d : 71939924160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following words cannot be used for positive verbal reinforcerment?

Options:

1. % Poor

2. % Excellent
2. % Correct

4. % Fair

Question Number : 102 Question Id : 71939924160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question 1d : 71939924161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following type of question allows students to go beyond the available data (their learning) and
syrithesise thermn with their personality characteristics?

Options:

1. % Provocative Questions

Z % Hypothetical Questions
2. % Consequences Questions

4. % Convergent Questions

Question Number : 103 Question Id : 71939924161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 71939924162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT an internal factor which influence growth and developrment in children?

Options:

1. # Intelligence

= % Technical factors
2. % Social nature

4. % Heredity factors

Question Number : 104 Question Id : 71939924162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 71939924163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is way by which a teacher can stimulate thinking skills in children?

[. Recognize the conditional nature of many thinking skills.
II. Encourage students to talk to thernselves while they thinlk
III. Encourage transfer, emphasize connections within and beyond the topic of a given lesson.

Options:

1. ® Both [ and II

2. % Both II and III
2 % Both I and III

4. % 1,11 and III

Question Number : 105 Question Id : 71939924163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeaT § & @ 91 90T & e 2T U T o # i e @ HieaTisd Y el a7

1. ®% AT B9 &1 49 W id @1 Tg=T-m
I1. TT3t &1 WieaTisd @4 o o TEw oed a0 T & o1 @9
111, SETEO0 &1 WicHTed @, el Ta T UTE o fau & g o gt T w7 21

Options:
1. % 1 39mIl 24T
= ® 11 eIl =t

= % [ Tl et




4. 1, 11 q9r1Il

Question Number : 106 Question Id : 71939924164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are effect{s) of emotions on the developing individual?

[. Emotions add pleasure to everyday experiences in life.
II. Emotions work as motivations of our behawviour.
III. Ernotional deprivation leads to perscnality rraladjustrnent.

Options:

1. ¥ Both I and Il

2. % Both I and III
3. % Both I and III
4 ¥ 1 11 and III

Question Number : 106 Question Id : 71939924164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 71939924165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following CANMNOT be included under the concept of personality?

Options:

1. % The way an individual talk.

2. * The way an individual walk.

2. ¥ The way an individual makes decisions.

4. % The way an individual act.

Question Number : 107 Question Id ;: 71939924165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 71939924166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can motivate a child to continue an activity?

Options:

1. % Painful experiences

2. ¥ Experience of success

3. % MNegative non-verbal reinforcernent by the teacher

4. ® Toughness of activity given to the child

Question Number : 108 Question Id : 71939924166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 71939924167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the fOllOW‘iI‘lg disabilities can pose a threat to children in the process of their education?

[. Physical deviations
1. Sensory irmpairment
I1I. Problern with language and Cormrmunication

Options:

1. ® BothIand Il

= % Both IT and III
3. % Both I and III
4. % 1 11 and III

Question Number : 109 Question Id : 71939924167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 71939924168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following is the developrment norm for a 2 years old child?
Options:

1. ¥ The child can walk without help, jumps, runs

2 % The child can skip and hop

3. # The child has free and active movernent and can respond to music

4. % The child cannot walk or even crawl

Question Number : 110 Question Id : 71939924168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 71939924169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statement regarding Indian traditional education systern isfare correct?

I. It was neither open to all nor it had any uniformmity.
I It was elitist in character and was supported with religious purpose.

Options:

1. % cnly 1

o ® only 11

3. % BothlandlIl
4 % Neither I nor 1

Question Number : 111 Question Id : 71939924169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 71939924170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following functions can be performed by community to improve school education?

. Increase girls retention i school
II. Boosting morale of school teachers
III. Supporting the teachers



Options:

1. ® [TandIlI
2. % [andIIl
2 % JandlIl

4. % 1,11 and III

Question Number : 112 Question Id : 71939924170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 11 J9rlll
2. % [ grlll
I% [ agrll

4. % 1 11 g9l

Question Number : 113 Question Id : 71939924171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Right to Education Act, 2009, how many minirnum numbers of working days in a year are
required for classes first to fifth?

Options:

1.9 200
2. % 220
2% 180

4. % 240

Question Number : 113 Question Id ;: 71939924171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 200

2 % 220

3. % 180

4 % 240

Question Number : 114 Question Id : 71939924172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a point announced in the 1235 resolution by Bentick?

. Establishmment of teacher training institutions.
II. Persian abolished as court language.

Options:
1. % Only I



2. ¥ COnly 11
3. % BothlandIl
4. % Meither I nor I1

Question Number : 114 Question Id : 71939924172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % aal

2 ¥ Fadll

3. % [ gurll gFt
4, % JUErIATEIII

Question Number : 115 Question Id : 71939924173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a learner related factor affecting learning?

Options:

1. % Goals

2. ¥ Cormmrrnication
2% Attention

4. % Motivation

Question Number : 115 Question Id : 71939924173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 71939924174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true according to Gandhi?

I. Learning riast provide for opportunities for children to be physically active.
II. Children must have the freedom to create their own models of knowledge about world.

Options:

1. % only 1

2 % only I

3. ¥ Both I and 11
4. % DINeither [ nor I1



Question Number : 116 Question Id : 71939924174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Treft o argEw e # € @9 ' aer ae

1. SITEnTA & ot @7 AT &0 & Gl g O ST 1 S e 2
I1. =gl T G+ o & § AT o 310+ HIS el ST & S adT g a1 2]

Options:
1. % FFaml

2 ® Faell
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Question Number : 117 Question Id ;: 71939924175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What role does education play in an individual’'s developrmnent’?

[ It provides pupils teaching skills that prepare them physically, mentally and socially for the world of work.
II. Higher education helps in maimntaining a healthy society which prepare educated health care consurners and
professionals.

Options:

1. % Only I

2. % Only 11

3 ¥ Both [ and Il

4. % Meither I nor I1

Question Number : 117 Question Id : 71939924175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ]

2 % Fadll

3 ¥ ] qETll 3t
4. % FUEr] ATEIII

Question Number : 118 Question Id : 71939924176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a requirernent for knowing?

[. Proposition muast be true,
II. Person must beligvye proposition.

Options:
1. % Only I
2. % Only 11



2. ¥ Both [ and II

4 % MNeither I nor 11

Question Number : 118 Question Id : 71939924176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 71939924177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following statement regarding informal education systerr isfare correct?

[. Its goals are always rooted firmly in value system.
I1. It has no direct concern with degrees or diplormas.
I1I. It does not supplement formal and non-formal education.

Options:

1. ¥ TandlIl

2. % [landIll
2. % LandIII

4. % [, 1I and III

Question Number : 119 Question Id : 71939924177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.9 1 Famll

2. % I Tl
3. % [ Farlll

4. % 1,11 q9r1II

Question Number : 120 Question Id : 71939924178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not correct about the right kind of education?

Options:
1. % Help each individual student 1o observe and understand his owrl self projected values,

2. % Helps each individual student to becormne aware about conditioning influence’s about hirm.



3 Helps each student to learn from educator preconceived nations about life.

4. % Helps each individual student to observe and understand himself in relation to all things.

Question Number : 120 Question Id : 71939924178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplinez
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Section type: Online
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Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 71939924179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is a focus of peace oriented pedagogy?
Options:

1. # Only retention of concepts



2. % Cnly mermorisation of tests
3. % Achieving individual goals

4. Learning to collaborate with others

Question Number : 121 Question Id : 71939924179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question 1d : 71939924180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

what kind of motivation is provided to the students when they are given rewards like money, gifts or grades
by parents or teachers for successfully completing a learning task?

Options:

1. # Intrinsic motivation

2. % Extrinsic motivation

3. # Both intrinsic and extrinsic motivation

4. # Meither intrinsic nor extrinsic motivation

Question Number : 122 Question Id : 71939924180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 123 Question 1d : 71939924181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following processes can be ernploved by students for retention of information learned through
observation?

I. Rehearsing the sequence of actions mentally.
II. Storing the things observed as wisuals in their memory.

Options:

1. % Cnly I

2. % COnly Il

3. ¥ Both I and 11

4 % MNeither I ror 11



Question Number : 123 Question 1d : 71939924181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 124 Question Id ;: 71939924182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Discowvery learning method is based on which of the following principles?

[. Principle of activity

II. Frinciple of logical thinking

I1I. Principle of purposeful experiences
IV, Principle of searching for alternatives

Options:

1. % I, I andIII
2. % I Il and IV
2% [ I and IV

4 ¥ 11 1l and IV

Question Number : 124 Question Id : 71939924182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 1,11 F=71II

2. % II, III = IV
3% [ I qar v
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Question Number : 125 Question Id : 71939924183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which style of teaching, it is consideraed all the students in the Class to be of same or similar ability level and
hawe nearly sirilar meaning of objects and events?

Options:
1. # Child-centered teaching
2 ¥ Syllabus-driven teaching



2. % Learning by doing

4 % Learning as meaning making

Question Number : 125 Question Id : 71939924183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 71939924184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the characteristics of Formal Operation stage of Piaget's stages of Cognitive
Devealoprnent?

I. Developrnent of strong idealism
II. Cormplete generality of thought
III. Ability to deal with hypothetical 1deas and situations

Options:

1. ® landll

2. % [landIIl
2 % JandIIl
4. % 1 11 and III

Question Number : 126 Question Id : 71939924184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ 397ll

2. % 1 Tarlll
Z.% [ eIl
4 % 1 11 qorlll

Question Number : 127 Question Id : 71939924185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which teaching approach, the textbook in the subject is considered as the storehouse of all the required
concepts, examples and exercise that are required for the teaching-learning process?

Options:
1. * Learner centered approach

2. % Subject centered approach



2. ® Competency based approach

4. % Constructivist approach

Question Number : 127 Question Id : 71939924185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 71939924186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which assessment strategies are used in constructivist assessment?

[ Oral discussion

II. Mind mapping

III. Pre-testing

I%. Hands on activities

Options:

1. % 1, 1IandIII
Z % [ MandIV
3% 0L I and IV

4. % 1,11, Il and IV

Question Number : 128 Question Id : 71939924186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 71939924187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following isare the principles of Play-way method of teaching?

[. Frinciple of fulfillment of desires

II. Principle of unfolding innate potentials
III. Principle of natural instincts

IV, Principle of responsibility

Options:

1. % 1,11 and III
2 %[ Mand IV
%I 1T and IV

4 ¥ 111 1l and IV

Question Number : 129 Question Id : 71939924187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 71939924188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which method of teaching, students are placed in the position of discoverers or inventors?

Options:

1. % Heuristic method
= % Project method
3. # Play way method

4. % Problern solving method

Question Number : 130 Question Id : 71939924188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 71939924189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statement regarding accomodating learning style of Kolb's model is(are correct?

I. It relies on intuition rather than logic.

II. Learner's use other people’s analysis and prefer to take a practical, experimental approach.
III. Learners prefer to work in teams to complete tasks.

Options:

1. % landll

2. % [landIIl
2 % [andIIl

4 [ 1l and III

Question Number : 131 Question Id : 71939924189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I 3grll

2. % 1 q9rlll
2% [ agrlll
4 % [, 11 q9rlll

Question Number : 132 Question Id : 71939924190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following forms a part of the assessment in learning-centred approach to learning?

I. Peer and self-assessment
II. Integrated assessrent
I1I. Students and teachers agree on feedback timeframes

Options:

1. ®* TandIl

2. % [landIIl
2 % JandIIl

4 % [, 1l and III

Question Number : 132 Question Id : 71939924190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4. 1, 11 q9r1Il

Question Number : 133 Question Id : 71939924191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which positive cutcomes can be achieved by a teacher in the classroom by using Cooperative learning rmethod?

[. Acaderric gains
II. Social developrment
III. Improved interpersonal relations

Options:

1. ® land Il

2. % [l andIII
2 % JandIIl
4 ¥ 1 11 and III

Question Number : 133 Question Id : 71939924191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % [ 39rll

2. % 1 qarlll
2% [ F9rlll
4. % 1 11 J9TlIl

Question Number : 134 Question Id : 71939924192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what isjare the advantages of activity based learning”

[ It provides scope for learning in one’s owmn style and own pace of learning.

II. It develops the ability of self-learning.

III. Students develop the abilities of enquiry, assessing one’'s owr knowledge and construction of new
knowledge.

Options:

1. % JandIl

2. % landIIl
2 % [landlll
4 ¥ [ Il and III

Question Number : 134 Question Id : 71939924192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 13971l

2. % [ J9rlll
2% 1 Tl

4. %1, 11 gemlll

Question Number : 135 Question Id : 71939924193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In group learning approach, what functions are performed by the teacher in the classroorm?

. To form groups
II. To hinder corrrTmnication in the group
III. To consclidate the outcormes of the learning in the group

Options:

1. ®* landIl

2. % [landIII
2. ¥ Land Il

4 % [ 1l andIII

Question Number : 135 Question Id : 71939924193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I 7971l

2. % [l F9rlll
3. ¥ Tl

4. % [, 11 g9rlil

Question Number : 136 Question Id : 71939924194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following teacher learning method is a projected aid used by a teacher in teaching-learning
process?

Options:

1. ¥ Epidiascope
2. % Chalk board
=, % Field trips
4 % Photographs



Question Number : 136 Question Id : 71939924194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 71939924195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following show that language is associated with the identity of an individual?

. Language of a person indicates the class of people he lives with.
II. Language is a decisive factor in maintaining class hierarchy.
III. & person speaking a different language is not accepted as a fellow human being.

Options:

1. ¥ Tandll

2. % JandIIl
2 % [landIIl

4 % [ 1l andIII

Question Number : 137 Question Id : 71939924195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ [ 797ll

2. % [ g9l
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Question Number : 138 Question Id : 71939924196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments regarding rmultilingualism are true?

[. Multilingualism can be a hindrance to personal developrent.

II. Multilingualism can be termed as an expression of cultural richness.

ITT. Multilingualism rmakes a person more tolerant.

IV, Prevalence of multilingualism in India has halted its economic developrment.

Options:
1. % TandIl

2 % I 1T and IV
3. ¥ Ilandlll



4 % [ Il and IV

Question Number : 138 Question Id : 71939924196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 139 Question Id : 71939924197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
why do we must ensure flexibility in our lesson plan?

I. Flexibility in lesson plan would allow us to incorporate many things in one plan so that we can finish the
CUrriculurt So0ner.

II. Flexibility will allow us to adjust the plan by continuous assessmernt.

III. Continuous evaluation is 1ess important than a rigid 1esson plan.

Options:

1. ® landll

2. ¥ Only 11
2% Only I

4 % [ II and III

Question Number : 139 Question Id : 71939924197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. % [ a9rll

o ¥ Fadll

3 % Fadl

4. ® 111 F9rll

Question Number : 140 Question Id : 71939924198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Suppose wee warnt to know that in a particualar village, how many persons are there in various incomne groups.
For this the data will be available with the municipality fpanchayat office. This is a scenario of data being
collected frorm which of the following source?

[. Frirnary source
II. Secondary source

Options:

1. % Cnly I

2. ¥ COnly 11

2 % BothlandII
4. % DMNeither [ nor [1

Question Number : 140 Question Id : 71939924198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 7193991294
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 71939924199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In metric and imperial system both, which of the following is/are the types of measuring units?

[. The base units
II. The derived units

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 141 Question Id ; 71939924199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Fael

2. ® Al
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Question Number : 142 Question Id : 71939924200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the foll-::-wing Staterrnent represents the time measure?

[. How long do we take to cormplete a work?
II. When did an event happen during the day?
III. The quantity of water displaced by a 3D body.

Options:

1. ® TandIII
2 ¥ landll

2 % [Tandlll

4 % [ 1l and III

Question Number : 142 Question Id : 71939924200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 1J9TIIl
2 ¥ il

2. % 11 9Tl
4 % 111 F9rlll

Question Number : 143 Question Id ;: 71939924201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ figure has two triangular faces {one at the top and one at the bottorn) generally known as bases and
three rectangular faces perpendicular to the triangular end.

Options:

1. ® Cylinder
Z % Frusturmn
3. # Pyrarmd
4. % Prism

Question Number : 143 Question Id : 71939924201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 71939924202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not a basic axiom of geometry?

Options:

1. ® Every line (e straight line) and plane is a set of points.

= % If two planes intersect, then their intersection is a straight line.
3. ¥ COnly few lines can be drawr through one point.

4. % The line drawn through two given points in a plane also lies in the plane.

Question Number : 144 Question Id : 71939924202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 71939924203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word ‘mmeter’ is derived frorm a Greel: word

Options:
1. % Metron

2. % Mentor
3. % Mortorn

4. % Metran

Question Number : 145 Question Id : 71939924203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“HieT Seg ______ e e & TolT T 1

Options:

1. 12
2 % g
3. % 9
4 % W

Question Number : 146 Question Id : 71939924204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which wear, the rmetric systern in weights and measures was adopted by the Indian Parliament?

Options:

1.9 1958
2. % 1982
3. % 1987

4. % 19686

Question Number : 146 Question Id : 71939924204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ 1958
2 % 1962
3. % 1967
4 % 1968

Question Number : 147 Question Id : 71939924205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which of the following additional care is needed to be taken to enable the children to learn using the scale
correctly’

I. Farniliarizing children with the marking of sub-units on the scale.
II. Appropriately placing the scale with the object of measurerment.

III. Estimating the length before exactly determining it.
I, Correctly calculating the length.

Options:

1. % Only IV

2. % I Il and IV
2% [ ITandIV

4 [ 11, [Il and IV

Question Number : 147 Question Id : 71939924205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 148 Question Id ;: 71939924206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Concept of reflection in geometry is similar to the reflection in rmirror. Reflections create in figures.

[. Dissirmilarity

II. Syrrornetry
Options:

1. % Only I

2. % Only 11

2 % BothlandII
4. % DMNeither [ nor [1

Question Number : 148 Question Id : 71939924206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 71939924207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is correct?

[ & box, a piece of brick and bodies of the like shape with unequal dimensions is knowr as cuboid.
II. & cubcid having equal length, breadth and height 1S kncwn as a cube,

Options:

1. % Only I

2. % Only 11

3. % Both [ and 11

4. % MNeither I nor II

Question Number : 149 Question Id : 71939924207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT FeE § & 1T aragl a7

1. o =T, [k B¢ 9T AT AT el FAT ATHR @ atgall 1 O-RT & 10 & 1 T &l
I1. ToF 54T e oes, TSt 3907 F2TE aila) 5F 39 U O & A0 & 7 A7 21

Options:

1. % Al

2 % FaAll

3. ¥ ] eIl 3E!
4. % ATET] ATEIII

Question Number : 150 Question Id : 71939924208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Raj bought an apple (with) a shop.
Options:

1. ¥ from

2. % t0

3% at

4. % MNoimprovernent

Question Number : 150 Question Id ;: 71939924208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

Faj bhought an apple (with) a shop.
Options:

1. ¥ from

2. % to

3% at



4. # No improvermnent

Question Number : 151 Question Id : 71939924209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Hatred
Options:

1. * loth
= % host
2. ¥ liking

4 * szafe

Question Number : 151 Question Id : 71939924209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Hatred
Options:

1. # loth
2. % host
2. ¥ liking

4 * safe

Question Number : 152 Question Id : 71939924210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the given word.

Force
Options:

1. % sorrow
2. % egsy
2. ¥ compel
4. % TRUE

Question Number : 152 Question Id : 71939924210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Force
Options:

1. % sorrow
= % eazy
2. ¥ compel
4. % TRUE



Question Number : 153 Question Id : 71939924211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Zuest
Options:

1. ® host

2. ¥ visitor
3. #® enslave

4 % grow

Question Number : 153 Question 1d : 71939924211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Guest
Options:

1. * host

2. ¥ visitor
3. % enslave

4. ® orowe

Question Number : 154 Question Id : 71939924212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

A book of names and addresses
Options:

1. % mermoirs

= ¥ directory

3. # cenotaph

4. % harangue

Question Number : 154 Question Id : 71939924212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A book of narmes and addresses
Options:
1. ¥ memoirs

2. ¥ directory
2. % cenctaph

4 % harangue

Question Number : 155 Question 1d : 71939924213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Zoclk-and -bull story
Options:

1. ® investigate

2. ¥ an absurd tale
3. % Establish oneself

4. % atterid to

Question Number : 155 Question Id : 71939924213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Cock-and-bull story
Options:

1. ® investigate

= % an absurd tale

3. % Establish oneself

4. % attend to

Question Number : 156 Question Id : 71939924214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Go out of one's way

Options:

1. * o be plain and evident
2. ¥ make a special effort
2. % laughing out loud

4. # ghandoned without support

Question Number : 156 Question Id ;: 71939924214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

G0 out of one’s way

Options:

1. # to be plain and evident
z ¥ make a special effort
2. # laughing out loud

4. % abandoned without support

Question Number : 157 Question Id : 71939924215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

We ______ hawe tirme to catch the flight.
Options:

1. % yet

= ¥ sl

= % and

4. % without

Question Number : 157 Question 1d : 71939924215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We ______ hawve time to catch the flight.
Options:

1. % yet

2. ¥ still

2 % and

4. % without

Question Number : 158 Question Id : 71939924216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most important measure of learning for Skinner is the rate of

[ messaging
II. responding

Options:

1. % Only I

2. ¥ COnly 11

2. % BothlandII
4. % DMNeither [ nor I1

Question Number : 158 Question Id : 71939924216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

o o Fadll
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Question Number : 159 Question Id : 71939924217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Whern new behaviour is acquired through observation alone, then the learning appears to he

I. dramatic
II. cognitive

Options:

1. % only I

2. ¥ COnly 11

2 % BothlandII
4. % DMNeither [ nor I1

Question Number : 159 Question Id ; 71939924217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Fael

o ¥ A 1l

3. % [ gurll FFt
4, % ATErIATETII

Question Number : 160 Question Id : 71939924218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many stages were there in the theory of moral judgement of Jean Piaget?

Options:
1. % 2
2 2
2% 4
4 % 5

Question Number : 160 Question Id : 71939924218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 2

2. ¥z

3% 4

4 % 5
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Revisit allowed for view? : No

Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplined
Section Id : 7193991077
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Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 71939924219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the other sign systems except ‘speach’?

I Writing
II. Murnbering systerms

Options:

1. % Cnly I

Z % COnly 11

3. ¥ Bothland II

4 % MNeither I nor 11

Question Number : 161 Question Id : 71939924219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 71939924220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the fOllOW‘iI‘lg COTTpOonents can be categorized under SocCio - cultural environent?

I. Political Institutions
II. Industries

III. Landforms

[W. Corrrranity

Options:

1. % 1,1l and III

2. % BothIand Il

= ¥ Both [ and IV
4, % Both Il and IV

Question Number : 162 Question Id : 71939924220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 71939924221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is false about EVS?

Options:
1. % EVS draws upon insights from sciences, social studies and mathematics only

2. % EVS is aimed at developing in children a holistic or integrated perspective of the environment where
he/she lives in

Z. % EVS helps children to explore and connect with their natural and human made surroundings

4, % EVS is introduced at the primary stage instead of subjects like science and social science

Question Number : 163 Question Id ;: 71939924221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id : 71939924222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following CAMNMNOT be an objective of the field trip organized for ‘Plant Study’?

Options:

1. % Students will be able to draw diagrams of the plants

2. % Students will be able to identify a few of the familiar plants by their names

% % Students will be able to observe and record the differences in the external features of plants

4. % smdents will be able to classify the plants on the basis of size and appreciate the diversity seen

Question Number : 164 Question Id : 71939924222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 71939924223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Through which of the following thernes, plants are introduced to the children in EVS?

Options:

1. # Shelter
= % Trawvel
3. ¥ Food

4 # inimals

Question Number : 165 Question Id : 71939924223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 71939924224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is NOT a type of formative assessment in EVS?

Options:

1. # A trip to nearby forest or a park.

2. % 4 pop quiz on any topic of EVS

% % Pairing the students and asking them to discuss..

4. % Giving a term-end test on all topics of EVS.



Question Number : 166 Question Id : 71939924224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 71939924225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not true about ‘topic-based worls™?

Options:

1. ® Wwhile concentrating on a single topic, the content of the lessons becomes more important than the
language.

2. ¥ It is the only way to organize one's teaching.
% % Working on topics can help the learning process.

4. % It allows you to g0 into a subject in depth.

Question Number : 167 Question Id : 71939924225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 71939924226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not true regarding ‘free activities'?

Options:

1. # There is a genuine communication

2. # The atmosphere should be informal
= ¥ They focus attention on the language

4. % There is often a game element

Question Number : 168 Question Id : 71939924226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 71939924227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following steps doesn't come under ‘organisation of ideas’?

Options:

1. # Check time references

2. % Check the way ideas are linked

3. % Check the way ideas are explained
4. % Check tenses

Question Number : 169 Question Id : 71939924227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id : 71939924228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a part of review?

I. Reviewing and summarizing the lesson.
II. Setting hormework.

Options:

1. % Conly 1

o ® Cnly I

2. ¥ EBoth I and 11
4. % Neither I nor 1

Question Number : 170 Question Id : 71939924228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 171 Question Id : 71939924229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
on what criteria’s can the self-assessment questions be asked?

[. Pronunciations
II. Stress

Options:

1. % Cnly I

Z % COnly 11

3. ¥ Bothland II

4 % MNeither I nor 11

Question Number : 171 Question Id : 71939924229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 172 Question Id : 71939924230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which stage 15 used to stirmlate learners’ interest in the topdc which help to raise motivation for listening?

Options:

1. % Pre-listening
= % While-listening
3. # After-listening
4. % Fifth stage

Question Number : 172 Question Id : 71939924230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 71939924231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

which speaking activity is carried out in pairs or groups and often involve pupil’s asking and answering
QuUESHONS?



Options:

1. # Retelling a story
Z % Reading aloud
2. ¥ Information gap

4. % Role play

Question Number : 173 Question Id : 71939924231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 71939924232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What comes under “writing at text level” writing activity?

[. Diaries
II. Descriptions

Options:

1. % cnly 1

o ® only 11

3. ¥ Both I and 11
4. % Neither I nor 1

Question Number : 174 Question Id ;: 71939924232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 71939924233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is included in cognitive strategies?

I. Cornparing
I1. Risk-taking

Options:



1. % Only I
= ¥ Only I
3. % BothlandlIl

4. % Meither I nor II

Question Number : 175 Question Id : 71939924233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TgieiET § & op &1 SeTeH® il § JTe TR T ge

it S o
Options:

1. % aal

2. ¥ Fadll

= % Fuml Il 2=t

4 % TEARTRI

Question Number : 176 Question 1d : 71939924234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following categories is included in cultural information that is presented through the storybooks?

[. Festivals
II. Everyday life

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 176 Question Id : 71939924234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 71939924235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is included in step 2 of a productive computer session?

I. Explain the purpose of the task.
II. Make sure children stay on the task



Options:

1. % Only 1

2. ¥ Only 11

% % BothIandII
4. % Neither I nor I

Question Number : 177 Question Id : 71939924235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 71939924236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does rmultisensory teaching involya?

Options:

1. # A varisty of materials and resources that will appeal to different kinds of learners
2 ¥ Adapting tasks to accommodate a range of learning styles

3. % Providing suitable challenges for all children

4. % Matching using words and pictures

Question Number : 178 Question Id ;: 71939924236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 71939924237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following can be used to accompany story-based work?

I. Ehymes and songs
II. Making video recordings

Options:
1. % Only 1
2. % Only 11



2. ¥ Both [ and II

4 % MNeither I nor 11

Question Number : 179 Question Id : 71939924237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 71939924238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Practising new structures and functions is a purpose of which activity?

Options:

1. #® Writing at word level

= % Writing at sentence level
3. ® Writing at text level

4. % Writing paragraph level

Question Number : 180 Question Id : 71939924238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplines
Group Number : 10
Group Id: 719399968
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Disciplines

Section Id : 7193991078

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 7193991296
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 71939924239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which activity is included in practicing and checking wocabulary™?

I. Matching words to pictures
II. Guessing games

Options:

1. % only I

2. % only 11

2. ¥ Both I and 11
4. % DMNeither [ nor I1

Question Number : 181 Question Id ;: 71939924239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 71939924240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statermnent(s) is/are correct about the nature of history?

I. Historical is events are always incoherent and discontinuous.
II. History is the interpretation of the past with intention of predicting future.
III. History concerns the endeavors and achievernents of human beings through the ages.



Options:

1. ® Both [ and II
2. % EBEoth II and III
2 % [, IIandIll

4. % Cnly II

Question Number : 182 Question Id : 71939924240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 71939924241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following method(s) can help in making teaching - learning process in social science
participatory?

[. Arranging debates on emerging social issuss.
II. Arranging discussions of students with local resource persons and public functionaries.
I[II. Creating a classroorm environrnent that includes group workspaces where resources are shared.

Options:

1. % Only I

2. % BothlandII
2% Only I

4 %1 II and III

Question Number : 183 Question 1d : 71939924241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 71939924242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following subjects can be categorized under serrii social sciences?

Options:

1. % Anthropology
2. ¥ Ethics

2. % Linguistics

4. % Geography

Question Number : 184 Question Id : 71939924242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 71939924243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the fOllOW‘iI‘lg staternent(s) isfare correct regarding the nature of social science?

I. Social sciences as a field of study includes large number of subjects like political science, anthropology, law,
SCOTIOITICS, geography etc.

II. Social science subjects are mainly interdisciplinary and interdependent in nature.

III. While transacting the social sciences curriculum it must be integrated with different subjects.

Options:

1. ® Both I and Il

2. % Both I and III
2. % Both II and III
4 ¥ 1 11 and III

Question Number : 185 Question 1d : 71939924243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 186 Question Id : 71939924244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following fields can be categorized under Eiogeography?

1. Zoo Geography

II. Environmental Geography
III. Regional Geography

I%. Flant Geography

Options:

1. ¥ [IandIV
2. % I, IIandIII
2% [l and IV

4 % [ 11, Il and IV

Question Number : 186 Question Id : 71939924244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 187 Question Id : 71939924245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Radius of base and height of a cylinder are 28 cm and & cm respectively. What will be the curved surface area
of cylinder?

Options:
1540 cm?

. 1760 cm?

3 % 440 cm?

2
, v 880cm

Question Number : 187 Question Id : 71939924245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1540 THT2

1760 T.HY2

2w

440 T HT2

880 H.HT2

Question Number : 188 Question Id : 71939924246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The base of a prism is rectangle. Length and breadth of rectangle are 14 cmand 5 cm respectively. If height of
prism is 10 crm, then what will be the total surface area of prism?

Options:
630 cm?

1. =

o w 720 cm?

640 cm?

3%

2
4 520 cm

Question Number : 188 Question Id : 71939924246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 189 Question Id : 71939924247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“The distance between the end points of a line - segment is knowr as the length of the line segment.” This
abowve staterment defines which of the following?

Options:

1. ¥ Line segment

= % Collinear points

3. ¥ Length of a line segrment
4. % Ray

Question Number : 189 Question Id : 71939924247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 71939924248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 15 which cannot be accepted but 15 proved.

I. Formulae
II. Postulate

Options:

1. % onlyl

2+ Cnly 11

3. % Bothland Il
4. % Meither I nor II

Question Number : 190 Question Id : 71939924248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 71939924249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the types of range?

[. Inclusive Range
II. ExcClusive Range

Options:

1. % only 1

2 % only I

2. % Bothand II
4. % IMNeither [ nor I1

Question Number : 191 Question Id : 71939924249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToeET § & & a1 & 5 & T gy

1. gATET it
1. Tatde ot

Options:

1. % Saal

2. % Fadll

= o [ garll FEt

4 % JE] ATl

Question Number : 192 Question Id : 71939924250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following isare the tools and techniques of assessment of mathernatics learning?

[. Written, oral and performance tests and tasks
I1. Projects and assigrments
I1I. Child’s participation in performing mathematical tasks

Options:

1. % Only I
2. % [landIII
2 % JandIll

4. %1, 11 and III

Question Number : 192 Question Id ;: 71939924250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FrgimiET & & & A7) T wE & I & SUET S i a7

1. feifda, At o wgalq udtyor o @
1. ieeriommant affe et
111, wrivteter e et o @] ot wiigm

Options:
1. % Faal

2. % I Farlll
3% [ Ferlll
4. 1, 11 q9r1Il




Question Number : 193 Question Id : 71939924251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Carl Pearson, the scientific method is marked by which of the following features?

[. Careful and accurate classification of facts.
II. Observation of co-relation and sequence.
I1I. Discovery of scientific laws with the aid of creative imagination.

Options:

1. ®¥ landll

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 193 Question Id : 71939924251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I d9mll

2. % 11 q9rlll
I % 1 99rlll

4. %1, 11 g9l

Question Number : 194 Question Id : 71939924252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which approach to teaching stience 15 krowrl a5 trarnsission approach?

Options:

1. ¥ Expository approach
= % Discovery approach
2. * Inquiry approach

4. % Experimentation approach

Question Number : 194 Question Id : 71939924252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. g gRwm

2 ® s gRwm

3. ® ggam gEwm

4. %y g

Question Number : 195 Question Id : 71939924253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following is/are the advantages of using inquiry approach to teaching science in the Classroomn?

I. Learning becomes challenging and joyful.
II. Students realize the tentative nature of the knowlaedge.

Options:

1. % Only I

2. % Only 11

2. ¥ EBoth [ andII
4. % IMNeither [ nor I1

Question Number : 195 Question Id : 71939924253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

2 % Fadll

2. ¥ [ gurll St
4 % JE] ATl

Question Number : 196 Question Id : 71939924254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following statements regarding syllabus in a teaching - learning process is/are correct?

I & syllabus is an outline of a specific course
II. It includes the topics to be covered, their order, often the required and suggested reading material and any
other relevant information

Options:

1. % Only I

2. % only Il

2. ¥ Bothland II

4. % Meither I nor I1

Question Number : 196 Question Id : 71939924254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. T UTERH Uo TeTate e ol & o
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AT FrT AT

Options:

1. % aal

2 ® FaAll

3 ¥ ] gl gFt

4 % FEARATEI



Question Number : 197 Question Id : 71939924255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& teacher wants to teach his fher students about astronomy and celestial bodies. To which of the following
place, she should organise a field trip for this purpose?

Options:

1. % Planetariurm
2. % Museurn

2. % Yivarium

4. % Botanical Garden

Question Number : 197 Question Id : 71939924255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ qaEmHEd

= % HrEe

3. ® O

4. ® FRITEA M

Question Number : 198 Question Id : 71939924256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Omygen 15 represented by O," 15 a

Options:

1. ¥ Factual knowledge

= % Conceptual knowledge
2. # Procedural knowledge

4. % Metacognitive knowledge

Question Number : 198 Question Id : 71939924256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

"SI Forel T O, TIT ST T 8", U ______ B
Options:

1. ¥ FEACHE AT

2. % daiver 9

3 ® gipamens Je

4 & QErEpdied #9

Question Number : 199 Question Id : 71939924257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a popular model of Integrated education being practiced in India?

[. Self - contained class
II. Resource room



Options:

1. % Cnlyl

2 ® only I

2. ¥ Both [ and 11
4. % DMeither I nor II

Question Number : 199 Question Id : 71939924257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FFaal

o % Fadll

3 1 qurll gt

4 % FE AR

Question Number : 200 Question Id : 71939924258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following ermnpowerment is implied in education?

1. Promoting self recognition
II. Stirmulating critical thinking
III. Enabling access to resources

Options:

1. ¥ landll

2 % [TandIll
2. % JandIII
4 ¥ 1 11 and III

Question Number : 200 Question Id : 71939924258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 199mll

2. % 11 qem il
3. % [ el
4 %1 11 Fomlll



